The next number in the pattern -62, -37, -12, ...... :

(-10)x (-5)x(-7) is equal to ........

What is the additive identity element .............

When -16 is divided by ............ the quotient is 4.

On the number line , the value -5+49 lies to the left of
Next three consecutive numbers in the pattern 15,12,9,6,
Which of the following is not integers.

What is -75+0 equal to? Also state the property.
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Find the reciprocal 0f§

10.Choose the correct option 2 % x%.

11.1f the price of a liter of petrol is 32.25 then find the price of 4 litre of
petrol.

12.1f g of 5 kg of apples used on Monday the next day % of what was left
were used. Weight of apples left now.
13.How many % kg boxes of chocolates can be made with 1 %kg of

chocolates.
14.choose the product of reciprocal and additive inverse of 0.25.

15.Choose the correct solution : % + -;;



